

**Event Lines**

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
1	WATER RECLAMATION :4 TON BRIDGE CRANE		959-36	Crane Maintenance and Repair, Marine	2.0000	EA	CM No Output	Open	

**Line Responses By Supplier**

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
690	2	Low Country Hoist & Crane Serv	Greg Black	3696			2.0000	123.50000	247.00	

**Event Lines**

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
2	WATER RECLAMATION: 3 TON BRIDGE CRANE C-1		959-36	Crane Maintenance and Repair, Marine	2.0000	EA	CM No Output	Open	

**Line Responses By Supplier**

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
690	2	Low Country Hoist & Crane Serv	Greg Black	3696			2.0000	123.50000	247.00	

**Event Lines**

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
3	WATER RECLAMATION: 4 TON BRIDE CRANE C-2		929-33	Cranes: Backhoe, Dragline, Clamshell, etc., Maintenance and	2.0000	EA	CM No Output	Open	

**Line Responses By Supplier**

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
690	2	Low Country Hoist & Crane Serv	Greg Black	3696			2.0000	123.50000	247.00	

**Event Lines**

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
4	WATER RECLAMATION: 2 TON SHAWBOX CRANE		959-36	Crane Maintenance and Repair, Marine	2.0000	EA	CM No Output	Open	

**Line Responses By Supplier**

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
690	2	Low Country Hoist & Crane Serv	Greg Black	3696			2.0000	123.50000	247.00	

**Event Lines**

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
5	WATER RECLAMATION: 1 TON BUCKET		975-26	Cranes and Buckets Rental or Lease	2.0000	EA	CM No Output	Open	

**Line Responses By Supplier**

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
690	2	Low Country Hoist & Crane Serv	Greg Black	3696			2.0000	123.50000	247.00	

**Event Lines**

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
6	WATER RECLAMATION: 1 TON DAYTON CRANE		959-36	Crane Maintenance and Repair, Marine	2.0000	EA	CM No Output	Open	

**Line Responses By Supplier**

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
690	2	Low Country Hoist & Crane Serv	Greg Black	3696			2.0000	123.50000	247.00	

**Event Lines**

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
7	I & D WATER: 4 TON WRIGHT HOIST		959-36	Crane Maintenance and Repair, Marine	2.0000	EA	CM No Output	Open	

**Line Responses By Supplier**

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
690	2	Low Country Hoist & Crane Serv	Greg Black	3696			2.0000	123.50000	247.00	

**Event Lines**

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
8	I & D WATER: 3 TON		959-36	Crane Maintenance and Repair, Marine	2.0000	EA	CM No Output	Open	

**Line Responses By Supplier**

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
690	2	Low Country Hoist & Crane Serv	Greg Black	3696			2.0000	123.50000	247.00	

**Event Lines**

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
9	I & D WATER: 3 TON		959-36	Crane Maintenance and Repair, Marine	2.0000	EA	CM No Output	Open	

**Line Responses By Supplier**

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
690	2	Low Country Hoist & Crane Serv	Greg Black	3696			2.0000	123.50000	247.00	

**Event Lines**

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
10	I & D WATER: 2 TON R & M		959-36	Crane Maintenance and Repair, Marine	2.0000	EA	CM No Output	Open	

**Line Responses By Supplier**

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
690	2	Low Country Hoist & Crane Serv	Greg Black	3696			2.0000	123.50000	247.00	

**Event Lines**

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
11	I & D WATER: 2 TON SHAW BOX LIFTECH		959-36	Crane Maintenance and Repair, Marine	2.0000	EA	CM No Output	Open	

**Line Responses By Supplier**

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
690	2	Low Country Hoist & Crane Serv	Greg Black	3696			2.0000	123.50000	247.00	

**Event Lines**

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
12	I & D WATER: 3 TON YALE		959-36	Crane Maintenance and Repair, Marine	2.0000	EA	CM No Output	Open	

**Line Responses By Supplier**

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
690	2	Low Country Hoist & Crane Serv	Greg Black	3696			2.0000	123.50000	247.00	

**Event Lines**

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
13	I & D WATER: 5 TON R & M		959-36	Crane Maintenance and Repair, Marine	2.0000	EA	CM No Output	Open	

**Line Responses By Supplier**

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
690	2	Low Country Hoist & Crane Serv	Greg Black	3696			2.0000	123.50000	247.00	

**Event Lines**

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
14	I & D WATER: 10 TON SHAWBOX		959-36	Crane Maintenance and Repair, Marine	2.0000	EA	CM No Output	Open	

**Line Responses By Supplier**

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
690	2	Low Country Hoist & Crane Serv	Greg Black	3696			2.0000	123.50000	247.00	

**Event Lines**

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
15	STORMWATER: 8 TON YALE HOIST		959-36	Crane Maintenance and Repair, Marine	2.0000	EA	CM No Output	Open	

**Line Responses By Supplier**

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
690	2	Low Country Hoist & Crane Serv	Greg Black	3696			2.0000	123.50000	247.00	

**Event Lines**

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
16	STORMWATER: 8 TON YALE OVERHEAD		959-36	Crane Maintenance and Repair, Marine	2.0000	EA	CM No Output	Open	

**Line Responses By Supplier**

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
690	2	Low Country Hoist & Crane Serv	Greg Black	3696			2.0000	123.50000	247.00	

**Event Lines**

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
17	STORMWATER: 10 TON YALE		959-36	Crane Maintenance and Repair, Marine	2.0000	EA	CM No Output	Open	

**Line Responses By Supplier**

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
690	2	Low Country Hoist & Crane Serv	Greg Black	3696			2.0000	123.50000	247.00	

**Event Lines**

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
18	STORMWATER: 8 TON COLUMBUS MCKINNON		959-36	Crane Maintenance and Repair, Marine	2.0000	EA	CM No Output	Open	

**Line Responses By Supplier**

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
690	2	Low Country Hoist & Crane Serv	Greg Black	3696			2.0000	123.50000	247.00	

**Event Lines**

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
19	STORMWATER: 7 1/2 TON YALE		959-36	Crane Maintenance and Repair, Marine	2.0000	EA	CM No Output	Open	

**Line Responses By Supplier**

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
690	2	Low Country Hoist & Crane Serv	Greg Black	3696			2.0000	123.50000	247.00	

**Event Lines**

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
20	STORMWATER: 7 1/2 TON YALE		959-36	Crane Maintenance and Repair, Marine	2.0000	EA	CM No Output	Open	

**Line Responses By Supplier**

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
690	2	Low Country Hoist & Crane Serv	Greg Black	3696			2.0000	123.50000	247.00	

**Event Lines**

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
21	LABOR		959-36	Crane Maintenance and Repair, Marine	100.0000	HR	CM No Output	Open	

**Line Responses By Supplier**

<b>Supplier</b>	<b>Supplier Contact</b>	<b>Supplier Name</b>	<b>Contact</b>	<b>Vendor</b>	<b>Performance Evaluation Score</b>	<b>Contract</b>	<b>Quantity</b>	<b>Unit Price</b>	<b>Extended Price</b>	<b>Award Quantity</b>
690	2	Low Country Hoist & Crane Serv	Greg Black	3696			100.0000	45.00000	4,500.00	